H & 0l & AHS B Ml A

20238 =0ila LB KIS0 ot

M XISOHZ D
HE: SO ENL (LB BTHT/ L)

ol sSHENE T (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
KIS JH 10t 17,467,291 16,975,223 1,492,068
= 4,134,169
[ 1,729,000
= 2,640,153
Ea 8,347,969
H 616,000
SHENL (LS IHY/LBHAT) 237,603 203,759 33,844
SOHENE 237,603 203,759 33,844
ES sHEHE 7,200 7,200 0
201 fet=23y| 7,200 7,200 0
02 S3=gHl 7,200 7,200 0
OMEAH ANEE 352
300,000 *20H 2+ 1204 2 7,200
KNS (HR=EHI) 8,200 3,600 4,600
201 el 4,000 0 4,000
01 At22t2lt] 4,000 0 4,000
ONEE =7 U NANE E22E 72
4,000,000& 4,000
203 HR=4H] 4,200 3,600 600
MU A2 LIFEI 4,200 3,600 600
ORAN2EHR =&HI(2521015H)
350,000 * 12042 4,200
SSAES AL 193,343 138,735 54,608
101 e124d| 8,543 8,135 408
M ORNZZ2NSE S 8,543 8,135 408
OLPsAUHENZAME AIEE =2 2
rals] 8,543
—JlZ2= 76,9603 * 12 *100 7,6%
—MEEER 7,696,000 *11% 847
201 et 3| 84,800 60,600 24,200
01 At22t2l] 65,000 45,000 20,000
OLEsSMAENLAIS (BATHA, 2,012
EH)AEE A7E =4
5,000,000 134 2~ 65,000
2 352484l 19,800 15,600 4,200
OB ANEE S8R=
350,000 x4 A+ 12J0 2 16,800
O28li=& Jt2s &Iz
250,000& 104 A=x 1200 2 3,000
401 AIEHIZ SR HYI 100,000 70,000 30,000
01 Al&HI 100,000 70,000 30,000
OHATHX AlES(XE, 2, 12, 23],
&L AE) RX2e| 50,000,000 50,000
O, nisd?l AMds(32.849.2X.5
g AL QAA F) 6,250,000 «8IH 2 50,000
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X XH -
o=

NE-p/ =

SOIEN (LSBT /LBIHT)

=Rl SHENE T EER=E)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AIE2 sHEAL(Q24I) 28,860 54,224 N25,364
101 @124H| 28,860 54,224 N25,364
04 JIZtN22 NS84+ 28,860 54,224 N25,364
Ot E HEAY 33 22| WFDI
il 17,316
—0lIF D] QIAH|
100,000 x3Z 1301 A4 15,600
—MEEEE 15,600,000 *11% 1,716
OgetsaoE HEAMY S 22| =X
1 14| 11,544
—EENMH 1A
100,000 x2& x 130 A4 10,400
—MEEEZ 10,400,000 *11% 1,144
SIHASOHE (s8isi/5Y - &) 103,410 94,067 9,343
= 41,364
= 19,073
= 42,973
sgol HAAMS 103,410 94,067 9,343
= 41,364
[ 19,073
T 42,973
MEots ARE K& 103,410 94,067 9,343
= 41,364
s 19,073
s 42,973
307 @I2t01 & 103,410 94,067 9,343
= 41,364
= 19,073
o 42,973
02 QA AAEE X 103,410 94,067 9,343
OMELIS MRE X (Z2E20I)
1,723,500« 1E* 1204 20,682
= 10,341
= 3,217
Ea 7,124
OMELIS MRE X3 (SE0IR)
1,723,500 1E* 1204 20,682
= 10,341
= 3,217
o 7,124
OMELIS MRE X (S20tR)
1,723,500 1E* 1204 20,682
= 10,341
= 3,217
o 7,124
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OHMEote MR XA (eXIoE)
1,723,503« 1E 1200 & 20,682
= 10,341
[ 3,217
T 7,124
OXMEDS 2LH0UXN X (AHROIS)
1,723,503 1E* 1200 & 20,682
= 6,205
[Ea 14,477
NADEL N (s L s - S&) 3,066,430 5,726,179 N2,659,749
= 1,729,000
== 181,000
o 1,156,430
SgIeHE| 3,066,430 5,726,179 A2,659,749
= 1,729,000
= 181,000
o 1,156,430
AR HFIHL(+01) 40,000 3,129,000 A3,089,000
401 Al HIZ R OHbI 40,000 3,129,000 A3,089,000
01 AlZ8| 40,000 3,117,735 A3,077,735
OAATHI HEINL(H0)
40,000,000 40,000
010I0rS SEOHLAI (HEALY) 219,000 285,000 266,000
401 Al HI2L 2O 219,000 285,000 66,000
01 A&l 219,000 285,000 66,000
OOHE &R S8HZ(0101)
219,000,000 219,000
ANzZHg2dsHEE) 200,000 50,000 150,000
[ 140,000
s 60,000
401 AIEHIZ SR OHYI 200,000 50,000 150,000
[ 140,000
Ea 60,000
01 Al&HI 200,000 50,000 150,000
OAzZASsHEE) 200,000,000 200,000
s 140,000
= 60,000
N =LA S A2 AE 10,000 10,000
201 er23y| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
Osa2+ % OICIOIIALE =Xl2te]
5,000,000 x2JH 2= 10,000
28 dExST RA2 231,935 339,274 /107,339
201 2= 215,935 203,274 12,661
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SA NS
M NAREUE (SRS D - SE)
el sZ0|eHEH| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—&0=3 500,0003 1 +23] 1,000
OLEBYF a2l el 65,105
—Jl2=s 76,9602 x2H*318 48,947
—F5=4 76,9603 »2H »535= 8,158
NI = 250,000 x2&* 12042 6,000
—&03 500,000 x22H+23] 2,000
O gz OI=J] 21Ad| 22,200
— Q12| 100,000 x82 +8 L +32] 19,200
—AM2EE 250,000 x1E =120 2 3,000
O=2sdExEE RN 1At 34,401
—QIAH| 76,9603 x32H 1202 27,706
—F5=4 76,9602 x3& 16 3,695
EEEE] 250,002 x3 247} 2 3,000
OSMEZZY OOIEE oA oA
]l 10,236
—QIAH| 76,9603 x4 30 9,236
—AM2EE 250,000& x4+ 112 1,000
AR E L= 3,000 2,000 1,000
203 =] 3,000 2,000 1,000
03 A=A 2= 3,000 2,000 1,000
OAIBZ=E P2=LH| 3,000,000 3,000
FAXS YEAHA HEAL(SS) 522,000 522,001 Al
= 380,000
== 43,000
[Ea 99,000
401 AIEHIZ R 0HYI 522,000 522,001 A
= 380,000
=S 43,000
s 99,000
01 A28l 522,000 518,242 3,758
OF XS WE0A HEMB(TS)
522,000,000 * 14 2 522,000
= 380,000
= 43,000
o 99,000
FOIXA MO HEAG (L) 563,000 553,001 AT
= 401,000
= 46,000
o 106,000
401 Al HIZ S OHbI 553,000 553,001 A
[ 401,000
= 46,000
[Ea 106,000
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=aak

Xl

Sgo1eHE|

pNEp/Elin’
R U (SYHLLA/ S -

o 2T

SA) - FE - EH9(3]H)

- HRAY - B4E=

Ofl &F2H

HMEE
Ofl &k2h

01
O

>

=1
o

EONEW

o

1 A

S

JHZE AL (AFEH)
563,000,000 * 190 2

Ao oA

553,000

553,000
401,000

46,000
106,000

549,074

Ao

457,000
342,000
32,000
83,000

457,001

A1

401 AIZHIZL 20

HH

457,000
342,000
32,000
83,000

457,001

A1

7,000,000 *10H 2~

HOH

457,000

457,000
342,000
32,000
83,000

453,710

3,290

HOH A

666,000
466,000

60,000
140,000

666,000

401 Al HIZL S 0HYI

Mo A

666,000
466,000

60,000
140,000

666,000

HZEARS (&1D1)
666,000,000 *10H 2~

Mo A

666,000

666,000
466,000

60,000
140,000

666,000

A

3,600,000
1,800,000
1,800,000

1,400,000

2,200,000

M

3,600,000
1,800,000
1,800,000

1,400,000

2,200,000

EUNGE

3,600,000
1,800,000
1,800,000

1,400,000

2,200,000

101 eI24d|

14,400

28,800

A14,400
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S RPN =

3 IESNALUSI(SELXANL/RNSFLCA)
el AJIE2NGRA=0Exd EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,200
s 7,200
M ORIMZZ2NSE S 14,400 28,800 14,400
SERF0i2t 2302l &t or2lg Good(Z
)oel A eld(EZ2 2OUI0IH)
300,000& x1& *42|* 1204 2 14,400
= 7,200
[Ea 7,200
401 Al HIZ S OHYI 3,585,600 1,371,200 2,214,400
== 1,792,800
s 1,792,800
01 Al&HI 3,585,600 1,361,739 2,223,861
OsRF02 2et0i=2l & oteld Good(x
)Hel REAY 3,585,600,000& 1JH A 3,585,600
S 1,792,800
= 1,792,800
NALEADHE (2EL RGN L/ X ALECAl) 8,622,695 6,657,035 1,965,660
= 3,020,000
= 503,000
Ea 4,483,695
H 616,000
SAIZEIH = 8,488,535 4,772,875 3,715,660
= 3,020,000
== 503,000
o 4,349,535
H 616,000
SAHE =2 4 599,069 848,959 N\249,890
101 @12A4H| 2,309 2,19 10
04 JIZtN22 XS 2+ 2,309 2,19 110
OFAAHEEZ S SHIJ] 12|
76,9603 x2& 15 2,309
201 2= 26,760 26,760
01 At22telt] 26,760 26,760
Oz =2 249 100,000& * 122 1,200
OZAIHE(HE) 308
4,000,000& 22 8,000
OFAAHEEZ NHEsE & SI0lE ==
= 1,000,000& 105 10,000
Oz A=z A Ol
70,0002 9 x 122 7,560
401 Al HIZ 2018 570,000 820,000 A.250,000
01 Al&H| 570,000 820,000 250,000
OZAAHEEZ |XIEH|
100,000,000 100,000




S RPN =

M XNALEANS (BEXRSONL/XALCAl)
CHel: ZAIZE|HE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OWIS AIAE RR2+ EF
20,000,000& 20,000
OOt2lgAHel alduXtZ &I
450,000,000 * 10 2 450,000
CAISE 2 9,600 22,600 A13,000
201 2= 9,600 22,600 A13,000
2 35244l 9,600 22,600 A13,000
OZEOISE &IIME=
650,000 * 1294 7,800
OZUIsd =EAME=
150,000& * 12043 1,800
A = 733,334 2,069,316 1,335,982
401 AlZHIZ SO 733,334 1,993,300 1,259,966
01 A28l 733,334 1,993,300 1,259,966
SFZ (SBHHE EAE
733,334,000 733,334
SATHY =LA (Ler28d) 5,646,532 882,000 4,764,532
= 3,020,000
== 503,000
o 1,507,532
H 616,000
101 @12A4H| 97,797 97,797
04 JIZtN2 2N S+ 97,797 97,797
O A XI2HIE IAHI(SZ2CIUI0IH
, 2OUI0IE) 97,797
—3Z32CIUIoIH 29,619
lEs 308,530 x 1 +82l* 1201 2 29,619
—ZCIUI0IA 68,178
JlEs 87,9503 2 »255& 44,855
=5+ 87,9603 x2& x535 9,323
ABIEEZ 500,000 x2E 1201 2 12,000
o3 500,000 x2H +23] 2,000
201 er23| 10,000 10,000
01 AtR2t2|HI 6,000 6,000
OF A S X2 HEH 6,000,000& 6,000
02 S3=gHl 4,000 0 4,000
S AITHAX 2 HE 4,000,000 4,000
401 Al HIZL S 0HYI 5,538,735 882,000 4,656,735
= 3,020,000
=S 503,000
s 1,399,735
H 616,000
01 Al&H| 5,538,735 882,000 4,696,735




S RPN =

M XNALEANS (BEXRSONL/XALCAl)
Chel: SAIZEIHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSAHY =LA (Let2eld)
5,538,735,000& 5,538,735
= 3,020,000
[ 503,000
T 1,399,735
H 616,000
SANAHEE2HE (AER]) 1,000,000 350,000 650,000
401 AIEHIZ SR 0HYI 1,000,000 350,000 650,000
01 Al&HI 1,000,000 350,000 650,000
OZAIHEEZ HEZBAHALAERI)
1,000,000,000& 1,000,000
SANHEESEHE (S4e) 500,000 470,000 30,000
401 Al HIZ S 0HHI 500,000 470,000 30,000
01 Al&H| 500,000 470,000 30,000
OZAHEEZ HEBAH=4)
500,000,000 500,000
dHAIE 134,160 134,160 0
OS2I At 100,000 100,000 0
401 AIEHIZ SR HYI 100,000 100,000 0
01 Al&HI 100,000 100,000 0
Ot & JHHIIA
2,500,000 *407H 2= 100,000
=2 NE 2tel(XHAl) 32,960 32,960 0
201 Ler23| 32,960 32,960
01 At2teltl 32,960 32,960
OsH AANU U2
1,000,000 *200H 2= 20,000
OZ&?s 23 100,000 * 1204 & 1,200
OZ 2233 213 0]
70,0002 x14H 123 11,760
J2tAld 2tel 1,200 1,200
201 er23| 1,200 1,200
2 s5=34l 1,200 1,200
OFE 22(=2) F2NSALY LEDEY &I
=4 100,000&* 12043 1,200
SSAEXNH (ZELXAMNL/XNFL A 12,120 12,120 0
SSUAFNE2E 12,120 12,120 0
SSAEXNE2E 12,120 12,120 0
201 er23 | 12,120 12,120 0
01 At2teltl 12,120 12,120 0
OSSAHAFH2AARE 28
100,000& x 123 1,200
OssAFY 7= f& 0
70,0002 x13E * 122 10,920
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S RPN =
M HASE MESoE XA (MIIEX/JIZHEER)
Rl NASSE

SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2

MASE Moty X2 (AMBISX/IzdE2E) 1,388,776 1,466,250 NNTT,474
1,072,805
137,080
178,891

Mo W

>
P>
Jn
Olt
~
P

=

o
H

3

,388,776 1,466,250 ATT 474
072,805
137,080
178,891

—

HoH W

"
e
il

,319,724 881,250 438,474
,055,779
131,972
131,973

—

HH W

301 2 E = 769,724 881,250 A111,526
615,779
76,972
76,973

Mo W

01 Al EZ A =GIZS (2 DEXTHR) 769,724 881,250 A111,526
Ogx=x 769,724,000 769,724
615,779
76,972
76,973

MW

on

0

403 KHXIEHH

>

A=201& 550,000 0 550,000
440,000
55,000
55,000

[

Mo W

02 S712S0 e MH=E P E AL 550,000 0 550,000
(OESuEINI=10| 550,000,000& 550,000
440,000
55,000
55,000

Mo W

FH=A 35,000 585,000 550,000

35,000 35,000 0

35,000 35,000 0

7,000,000 5= 35,000

HEEA Al SEXE A 34,052 0 34,052
17,026
5,108
11,918

HoH W

301 2N = 34,052 0 34,052
17,026
5,108
11,918

MW
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M XIHE D
HE: HAS

(= PN

SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 34,052 0 34,062
OZEEN SAISERH 34,052,000& 34,052
= 17,026
< 5,108
[Ea 11,918
T 2 N (A2l SR /=E) 280,000 280,000 0
FAHEZ LA 280,000 280,000 0
BIE &AL 180,000 50,000 130,000
401 Al HIZ S 0HYI 30,000 0 30,000
01 A28l 30,000 0 30,000
OEged FHIAMg 10,000,000& *3& 30,000
402 212 X201 & 50,000 50,000
01 QI X2 AL E R (KHMITHE) 50,000 50,000
OBIEEHIAI 1,000,000& *50= 50,000
403 AXIEHMSAH=0lH 100,000 0 100,000
02 SO 2SOt = 2 2 EF A I 100,000 0 100,000
OBIYAEHZAL Y 100,000,000 100,000
Mehal =A2BEH N3A 100,000 230,000 130,000
402 2I2FX=01 & 100,000 230,000 130,000
01 QI XHE AL E R (KM TH) 100,000 230,000 130,000
OXfeial =HtEEH| N3
10,000,0002 %10 100,000
HE2F I (KILINL D) (OIEH/DIES) 156,257 135,813 20,444
Ig =g 74,937 67,204 7,733
el =gl 74,937 67,204 7,733
101 @124H| 74,937 67,204 7,733
01 2= 74,937 67,204 7,733
OXIZIHL L ARt 22 74,937
—2eHy 74,937
62 12,3212 x6*30AI 2+ 1200 2 26,614
= 11, 1302 <62 *30A| 2t 1200 & 24,041
= 9,992 x4 +30AI 2t 1200 2 14,389
92 9, 16023 *30AI 2t 1200 2 9,893
J1I=238l 81,320 68,609 12,711
JI23HI(XISIHL D) 27,200 25,760 1,440
201 =3 25,760 25,760 0
01 At2t2lt] 25,760 25,760 0
OXNShEl AR 23| 25,760
—ZSA EXE
700,000 +2CH* 120 3 +80% 13,440
—AIRY )| SRz
120,000 * 120 2 x80% 1,182
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2A:

NE-p/ =

S HYS2HAUI(XIIHL D) (O1EHDIEH
Chel: J1=2 &l EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
—SAEX Y
25,0003 21 »60%+ 12J1 2 x80% 3,024
~XAHL T 2ET ARSE P
15,0003 *21 1200 2 x80% 3,024
~XSHL D B TRIE EHPY Y 4
eltl 250, 000 *4 4 *43| *80% 3,200
— XIS AFRD1D] 22| S M2
200,000 1201 & x80% 1,920
202 (4t 1,440 1,440
01 =LHO4 L] 1,440 1,440
Odldlel BI%Z =M SAEAH (|
20,0003 #2432 1,440
JleZal(Xeneed) 8,59 8,5% 0
201 B2 AL| 2,880 2,880
01 ArR222ltl 2,880 2,880
ORI ARET 22|
8,000& x5 x60 ! *80% 1,920
OYULEA AITBE 7Y
20,0002 x5 * 1270 2 x80% 960
202 04dl 5,715 5,715
01 =WOdbI 5,715 5,715
OXglY HRFA 2 SE0|
20,0003 *5H 9 1200 E 30% 3,240
OXglg gRFa 22 EE0|
110, 0002 x5 *3 *53| *30% 2,475
JI2ZH(3BSHEXNAEY) 8,59 8,59% 0
201 L2 | 2,880 2,880
01 At 22|l 2,880 2,880
OZ3SH=EXE IR =S|
8,000 x5 x602 x80% 1,920
CECESIPES -+ 1]
20,0002 *5% 1204 2 x80% 960
202 Ot 5,715 5,715
01 =WO4bI 5,715 5,715
OZ3SHEXA IRFE 2 S|
20,0002 +5Z*9U 1200 2 »30% 3,240
OS3HFKE SRFE 22| E=F NI
110,000 5% 32 x53|*30% 2,475
ll2dbl(=Hsddgy) 8,59% 8,5% 0
201 Let2 | 2,880 2,880
01 ArR22ltl 2,880 2,880
O=NBY P23 S
8,000 x5 x60 ! *80% 1,920
OYLET NDEE 7
20,000 *5Z 1204 2 x80% 960
202 o441 5,715 5,715 0
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S RPN =
M HAPAZHI(XIGNL D) (DIEH/DIE

Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 =LHAHI 5,715 5,715 0
O=FHed g2=4d 2 280l
20,0002 x5 9=+ 1204 2 «30% 3,240
OFHetd g4 22 EF0|
110,000 x5 2 x32 x52] +30% 2,475
JI2EH(ZAITHAES) 19,740 7,740 12,000
201 2= 14,304 2,304 12,000
01 AtR2t2lt] 14,304 2,304 12,000
OSATHY 2227 22
8,000 x4 & 602 «80% 1,536
OYTEE AREE T2
20,0003 *4E =120 2 +80% 768
OZ0t=3 A2 |A&cld]
1,000,000& 129 & 12,000
202 04| 5,436 5,436
01 SLHoIH 5,436 5,436
OZAIMY HRF2 2L EH0Y|
20,0003 x4 122 1201 2 +30% 3,456
OFANY 28 22 E2F0|
110,000 x4 EH +32 +501 2 «30% 1,980
Jl23H(F2NE L) 5,157 5,886 AT
201 et 3| 1,728 2,304 A576
01 At2t2l] 1,728 2,304 Ab76
OTMA 22 F7 D2kl
8,000 x3& 602 «80% 1,182
OZENM A2 2T ASBE 7
20,0002 *32 » 12 «80f 576
202 048l 3,429 3,582 153
01 2L A b 3,429 3,582 A153
OZ2E g =& 2L S0
20,0003 x3ZH x92 +123] x3(% 1,944
OZRINE UL £ 29 ETOIY|
110,000 x3& *3& x5 x30% 1,485
I=BH(S3U=EE2Y) 3,438 3,438 0
201 Ler=23| 1,182 1,152
01 At22te|Hl 1,182 1,152
OBzAES YeRd
8,000 x2H +60 L +80fk 768
OY2EZ NSEE 72
20,0002 x2E #1204 2 +80% 384
202 04l 2,286 2,286
01 =LH0IH 2,286 2,286
OSs&AFS2c| HRFA 2U EF0iH]
20,0002 <22+« 1204 2 «30% 1,296
OssAEFES2A R 22 EH0HI
110,000 22 x32 x52] *30% 990
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